HI-TECH INSTITUTE GHAZIABAD (1075)

PRODUCTION MANAGEMENT

Time: 2.30 Hours] [Maximum Marks: 50
NOTES:

i) Attempt all questions. Attempt any two parts of each question. ii) Students are advised to specially check the
Numerical Data of question paper in both versions. If there is any difference in Hindi Translation,of any: question, the
students should answer the question according to the English version. iii) Use of pager and Mabile Phone by the
students is not allowed.

Q1) a) Make a Gantt chart and write its uses.

b) Discuss the objectives of production planning.

¢) What is meant by break- even analysis? What are its uses? [5+5=10]
Q2) a) Discuss the role of operator and inspector in quality control

b) Comment briefly on the following
(i) Quality assurance
(ii) 1SO 14000

c) Discuss X- chart. Why are the control limits kept at +30%? [5+5=10]
Q3) a) Whatis Single Sampling Plan (SSP)? How js.it specified?
b) Mention Six sigma quality levels.
c) Define cost estimating. Why is it done?What is standard cost? [5+5=10]
Q4) a) What is depreciation? Discuss any.one method of its calculation.
b) Explain TQM.
¢) Explain the purpose.of maintenance of construction equipment and its importance. [5+5=10]
Q5) a) Describe the latest Air Pollution Act. What is AQI?
b) Explain.briefly -
(i) Routine maintenance
(ii) ‘Break- down maintenance
C), “Write briefly on the following —
(i) PF Act

(ii) ESI Act [5+5=10]
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